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$ gdb [prog] [corelpid]
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JJEI Debugger — a.out

Program % ] Breakpeint % ) Emecution T ) Stack ¥ ) Data ¥ ] Props. | About.
Directory: | jdentchlEl44000A‘htdocsfjmchoi)‘c
= stopped in File: errori.c Function: main Line: 11
Currently in File: ~[orl.c Function: main Lines: 6-18
int  i: =
m=qa[0] = "hello”;
@nsal1] = "world";
msq[2] = "How":
=$isg[3] = "are";
msg[4] = "you";
forfi=0; 1 <= Max; i++) {
@printf("%s\n", msg[i12;
3
i
9
w
—
stopat | stopin ) clear ] run cont | nest | step | where | print* ) print ] up

down_;l display *_) display)

{debugger) run
Running: a.out
(process id 1246070
(debugger) next
(debugger) next
(dehugger)‘

LL4] B =]

res

State: Stopped




2 suqdb Commands g ﬂ wodb 1,11
| ul | | cont | Breakpoint 1, main{)at errort £:8
t L
| e | | = | wnder certain conditions! type “shou comying' to see the conditions,
| fFinizh | | break | There: iz absolutely ro warranty For GIBY type “show verranty’ for details,
(0B 4,16 (aparc-sun-anlaris?, 8.1,
| threak | | delete | Copuricht, 19% Free Softuare Foundatim, Inc,,,
(oo break BT enberpriae! /datal ‘student/c3044000 htdacad jochoi /e b .00t
| up | | datin |
| - || —— | Function " not deFined,
prin prin (ooodh! Function ™ nat defined,
- : (ooodh break, B
dizpl dizpl
| A | | Bl | Breakpoint 1 t 0:082c: file errorlc, line 8,
[shou display|[  args | (o) b 1
Breckpoint 2 at 0u0080; file erorlr, line 1,
| locals || stack ] (g tres 1
Breakpoint 3 at 00080 file errarl,c, line 19,
| edit. | | zearch | (xxgdh) Pl
| interrupt | | File | Breckpoint 1, nain () at ervart,c:8
| show brkpts | | UES | (mdh)*
| o | | quit | Source Listing Comnand Buktons Tisplay Nindoy it
I L
ald Ol Al
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shell/tmt21 ~/tmp/bugshome {217} gdb a.out

GNU gdb 5.0

Copyright 2000 Free Software Foundation, Inc.

GDB isfree software, covered by the GNU Genera Public License, and you are
welcome to change it and/or distribute copies of it under certain conditions.
Type "show copying" to see the conditions.

Thereis absolutely no warranty for GDB.  Type "show warranty" for details.




This GDB was configured as "hppa2.0-hp-hpux10.20"...
(gdb) break power

Breakpoint 1 at 0x32a8: file bugshome.c, line 16.

(gdb) run

Starting program: /af §/postech.ac.kr/home/std/tmt21/tmp/bugshome/a.out
[NOTE] Your password will expire 119 days later.
warning: Unableto find __d_pid symbol in object file.
warning: Suggest linking with /opt/langtools/lib/end.o.
warning: GDB will be unable to track shl_load/shl_unload calls
11! = 39916800

Thisisf3().

Breakpoint 1, power (b=11, e=7) at bugshome.c:16

16 return b * power(b, e-1);

(gdb) ¢

Continuing.

Breakpoint 1, power (b=11, e=6) at bugshome.c:16

16 return b * power(b, e-1);

(gdb) c 3

Will ignore next 2 crossings of breakpoint 1.  Continuing.
Breakpoint 1, power (b=11, e=3) at bugshome.c:16

16 return b * power(b, e-1);

(gdb) c

Continuing.

Breakpoint 1, power (b=11, e=2) at bugshome.c:16

16 return b * power(b, e-1);

(gdb) ¢

Continuing.

Breakpoint 1, power (b=11, e=1) at bugshome.c:16

16 return b * power(b, e-1);

(gdb) ¢

Continuing.

Breakpoint 1, power (b=11, e=0) at bugshome.c:16

16 return b * power(b, e-1);

(gdb) ret 1

Make power return now? (y or n) y

#0 0x32c0 in power (b=11, e=1)




at bugshome.c:16

16 return b * power(b, e-1);
(gdb) |

11 }

12

13 [* returnsb*e, e>=0*/

14 int power(int b, int €)

15 {

16 return b * power(b, e-1);
17 }

18

19 void f3()

20 {

(gdb) |

21 printf(" Thisisf3().\n");
22 }

23

24 void f2()

25 {

26 f3();

27 printf("11°7 = %d\n", power(11, 7));
28 }

29

30 void f1()

(gdb) break 28

Breakpoint 2 at 0x3388: file bugshome.c, line 28.
(gdb) ¢

Continuing.

1177 = 19487171

Breakpoint 2, f2 () at bugshome.c:28

28 }

(gdb) n

f1 () at bugshome.c:34
34 }

(gdb) n

main () at bugshome.c:40




40 printf("0! = %d\n", factorial (0));

(gdb) s

factorial (n=0) at bugshome.c:7

7 if(n==1)

(gdb) |

2 #include <stdlib.h>

3

4 [*returnsn* (n-1) * .. * 1 */
5 int factoria(int n)

6 {

7 if(n==1)

8 return 1,

9

10 return n * factoria(n - 1);
11 }

(gdb) ret 1

Make factorial return now? (y or n) y

#0 0x342cinmain () at bugshome.c:40

40 printf("0! = %d\n", factorial (0));
(gdb) ¢

Continuing.

o=1

Program exited normally.

(gdb) quit
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